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QUESTION 1

A customer wants an HCI solution that runs Acropolis Hypervisor. They already have Nutanix licenses. Which Lenovo
solution should you recommend? 

A. ThinkAgile VX3320 

B. ThinkAgile HX3320 

C. ThinkAgile VX 2U 

D. ThinkAgile HX3321 

Correct Answer: B 

 

QUESTION 2

Which feature distinguishes the SR670 V2 from other Intel-based V2 rack servers? 

A. Support for Intel Optane PMem Series 100 

B. Support for 32 DIMMs 

C. 3200 MHz memory speed 

D. 3U form factor 

Correct Answer: A 

 

QUESTION 3

What are three key concepts of Lenovo Client Virtualization? 

A. Instant clone 

B. Persistent desktop 

C. Snapshots 

D. Application virtualization 

E. Stretched cluster 

F. Remote mirror 

Correct Answer: CDF 

 

QUESTION 4
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Which pre-integrated, turnkey solutions make it easy for customers that want a cloud environment out-of-the-box that is
based on Microsoft Azure Stack technology. 

A. Lenovo ThinkAgile HX 

B. Lenovo ThinkAgile VX 

C. Lenovo ThinkAgile SXM 

D. Lenovo ThinkAgile MX 

Correct Answer: C 

 

QUESTION 5

A client has the following environment and requirements: 

1. 

They want to modernize their storage infrastructure. 

2. 

They need flexible and cost-effective security. 

3. 

They want the ability to leverage the cloud. 

Which Lenovo solution should you propose? 

A. Lenovo DE series 

B. Direct Attached Storage 

C. Lenovo DM series 

D. Tape Storage 

Correct Answer: C 

 

 

QUESTION 6

A client needs a server that provides robust security features and flexibility in mounting. Which Lenovo server should
you recommend? 

A. SE350 

B. SD530 

C. SR250 

DCP-116C VCE Dumps | DCP-116C Practice Test | DCP-116C Study Guide                                3 / 5

https://www.certbus.com/dcp-116c.html
https://www.certbus.com/dcp-116c.html
https://www.certbus.com/dcp-116c.html


https://www.certbus.com/dcp-116c.html
2024 Latest certbus DCP-116C PDF and VCE dumps Download

D. SR550 

Correct Answer: D 

 

QUESTION 7

What is one of the features provided by DB620S? 

A. support for IP network 

B. support for 12-port licenses upgrades 

C. 2U design 

D. one AC power supply 

Correct Answer: A 

 

QUESTION 8

Your client has concerns surrounding rebuild time for a traditional RAID group. Which feature of the DE series
addresses this concern? 

A. Hybrid Storage 

B. Thin Provisioning 

C. Dynamic Disk Pools 

D. Snapshot 

Correct Answer: C 

 

QUESTION 9

Which Lenovo HCI solution is based on the Azure product family? 

A. ThinkAgile VX Series 

B. ThinkAgile HX Certified Node 

C. ThinkAgile HX Appliance 

D. ThinkAgile MX Series 

Correct Answer: D 

 

QUESTION 10
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What are two reasons that drive customers toward the use of Big Data? 

A. Poor orchestration of multi-site application recovery 

B. Poor data ingestion rate and expensive data warehousing 

C. Infrastructure requires improved management of clusters 

D. Inefficient use of hybrid cloud environment 

E. The need to improve view of data for better decision making 

Correct Answer: BE 
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